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Name: __________________________________



1
In the diagram of [image: image1.png]


 below, [image: image2.png]


, [image: image3.png]ms e = 50



, and [image: image4.png]WK



 is extended through N.

[image: image5.png]50°




What is the measure of [image: image6.png]L LEN



?

	1)
	60º

	2)
	120º

	3)
	180º

	4)
	300º



2
In the diagram below, [image: image7.png]RCBT



 and [image: image8.png]MABC



 are shown with [image: image9.png]


 and [image: image10.png]msABT = 125



.

[image: image11.png]125°




What is [image: image12.png]ms ACR



?

	1)
	125

	2)
	115

	3)
	65

	4)
	55



3
Given [image: image13.png]MABC



 with [image: image14.png]


 and side [image: image15.png]AC



 extended to D, as shown below.

[image: image16.png]



Which value of x makes [image: image17.png]


?

	1)
	59º

	2)
	62º

	3)
	118º

	4)
	121º



4
The measure of one of the base angles of an isosceles triangle is 42°.  The measure of an exterior angle at the vertex of the triangle is

	1)
	42°

	2)
	84°

	3)
	96°

	4)
	138°



5
In [image: image18.png]MNFGH



, [image: image19.png]


 and an exterior angle at vertex H has a measure of 104.  What is [image: image20.png]


?

	1)
	34

	2)
	62

	3)
	76

	4)
	146



6
In the diagram below of [image: image21.png]MABC



, side [image: image22.png]BC



 is extended to point D, [image: image23.png]


, [image: image24.png]


, and [image: image25.png]msACD = 5x+ 5



.

[image: image26.png]



What is [image: image27.png]


?

	1)
	5

	2)
	20

	3)
	25

	4)
	55



7
In the diagram of [image: image28.png]MABC



 below, [image: image29.png]AB



 is extended to point D.

[image: image30.png]



If [image: image31.png]ms AR = x+ 40



, [image: image32.png]ms/ACE = 3x+ 10



, [image: image33.png]m/ COBD = 6x



, what is [image: image34.png]ms AR



?

	1)
	13

	2)
	25

	3)
	53

	4)
	65



8
In the diagram below, [image: image35.png]MABC



 is shown with [image: image36.png]AC



 extended through point D.

[image: image37.png]



If [image: image38.png]msBCD = 6x+ 2



, [image: image39.png]msBAC = 3x+ 15



, and [image: image40.png]msABC = 2x—-1



, what is the value of x?

	1)
	12

	2)
	[image: image41.png]10
11





	3)
	16

	4)
	[image: image42.png]






9
In the diagram below of [image: image43.png]


, side [image: image44.png]HP



 is extended through P to T, [image: image45.png]m/OPT = 6x+ 20



, [image: image46.png]s HOP = x+40



, and [image: image47.png]Ml PHO =4x-5



.  Find [image: image48.png]ms OPT



.

[image: image49.png](x + 40)°

(6x + 20)°

T P H

(Not drawn to scale)
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In [image: image50.png]MABC



 shown below, side [image: image51.png]AC



 is extended to point D with [image: image52.png]m/DAB = (180 - 3x)°



, [image: image53.png]


, and [image: image54.png]


.

[image: image55.png]B

T6x—40)°

(180 - 3x)° (x +20)°

A C




What is [image: image56.png]ms BAC



?

	1)
	20º

	2)
	40º

	3)
	60º

	4)
	80º



11
In the diagram below of [image: image57.png]MABC



, [image: image58.png]BC



 is extended to D.

[image: image59.png]C

(Not drawn to scale)




If  [image: image60.png]


, [image: image61.png]


, and [image: image62.png]msACD = 9%+ 27



, what is the value of x?

	1)
	10

	2)
	2

	3)
	3

	4)
	15



12
In the diagram of [image: image63.png]


 shown below, [image: image64.png]PR



 is extended to S, [image: image65.png]


, [image: image66.png]4x



, and [image: image67.png]m/ QRS = x° + 5x



.

[image: image68.png]



What is [image: image69.png]


?

	1)
	44

	2)
	40

	3)
	11

	4)
	10



13
In [image: image70.png]MABC



, [image: image71.png]ms/ AR = 2x



 and [image: image72.png]msACE = x+ 30



.  If [image: image73.png]AB



 is extended through point B to point D, [image: image74.png]ms CBD = 5x- 50



.  What is the value of x?

	1)
	25

	2)
	30

	3)
	40

	4)
	46



14
In the diagram below of triangle ABC, [image: image75.png]AC



 is extended through point C to point D, and [image: image76.png]BE



 is drawn to [image: image77.png]AC



.

[image: image78.png]



Which equation is always true?

	1)
	[image: image79.png]msl =ms3+ms2





	2)
	[image: image80.png]msS =ms3-ms2





	3)
	[image: image81.png]msh=ms3-ms2





	4)
	[image: image82.png]msT=ms3+ms2







15
In the diagram below of [image: image83.png]ABCD



, side [image: image84.png]DE



 is extended to point A.

[image: image85.png]



Which statement must be true?

	1)
	[image: image86.png]ms > ms D





	2)
	[image: image87.png]msABC < ms D





	3)
	[image: image88.png]msABC > ms O





	4)
	[image: image89.png]msABC > ml O+ me D







16
Side [image: image90.png]


 of [image: image91.png]


 is extended through Q to point T.  Which statement is not always true?

	1)
	[image: image92.png]msROT > msR





	2)
	[image: image93.png]msROT > ms P





	3)
	[image: image94.png]msROT = msP + msR





	4)
	[image: image95.png]ms ROT > ms POR







17
In [image: image96.png]MABC



, an exterior angle at C measures 50º.  If [image: image97.png]msA4 > 30



. which inequality must be true?

	1)
	[image: image98.png]msF < 20





	2)
	[image: image99.png]msF > 20





	3)
	[image: image100.png]msBCA < 130





	4)
	[image: image101.png]msBCA » 130







18
In all isosceles triangles, the exterior angle of a base angle must always be

	1)
	a right angle

	2)
	an acute angle

	3)
	an obtuse angle

	4)
	equal to the vertex angle



19
If one exterior angle of a triangle is acute, then the triangle must be

	1)
	right

	2)
	acute

	3)
	obtuse

	4)
	equiangular



1
ANS:
2
REF:
061107ge

2
ANS:
2

[image: image102.png]msABC = 55



, so [image: image103.png]



REF:
011414ge

3
ANS:
4

[image: image104.png]



REF:
081711geo

4
ANS:
2

[image: image105.png]180 - (180 - 42 -42)




REF:
062317geo

5
ANS:
2
REF:
011206ge

6
ANS:
3

[image: image106.png]X+ 2x+15=5x+15
3x+15=5x+5
10=2x

S5=x



  [image: image107.png]2(5)+ 15 =125




REF:
011127ge

7
ANS:
4

[image: image108.png]6x = x+40+ 3x+ 10
bx = 4z + 50

2= 50

x=125



.  [image: image109.png]



REF:
081310ge

8
ANS:
1

[image: image110.png]


  [image: image111.png]Ix+ 15+ 2x—-1=fix+2
5x+14= 6+ 2

x=12




REF:
011021ge

9
ANS:


110.  [image: image112.png]fx+20=x+40+4x-5
6x+20= 53+ 35
x=15
6((15)+ 20 = 110




REF:
081031ge

10
ANS:
3

[image: image113.png]6x—40+x+20 = 180 - 3x
10z = 200
x=120



  [image: image114.png]m/BAC = 180 - (80 + 40) = 60




REF:
011809geo

11
ANS:
4

[image: image115.png]- 6x+ 2x—3=0x+27

2 -dx-3=9x+27
2

13x-30=10
G-19@+2)=0
x=15,





REF:
061225ge

12
ANS:
2

[image: image116.png]&+ 55 = 4x+ 110
2 rx-110=0
(x+ 1)@= 10)= 0
10=-x



  [image: image117.png]ms O

4(10) = 40




REF:
061425ge

13
ANS:
3

[image: image118.png]Zx+x+ 30 = 5x - 50
80=2x
x=40




REF:
011615ge

14
ANS:
4
REF:
011916geo

15
ANS:
3
REF:
081111ge

16
ANS:
4

(4) is not true if [image: image119.png]£ POR



 is obtuse.
REF:
060924ge

17
ANS:
1
[image: image120.png]mZA +mes B = 50
30.1+msB=50
5=19.9




REF:
081424ge

18
ANS:
3
REF:
061508ge

19
ANS:
3
REF:
062215geo

